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ßàØÚ°×

<01> äÕÒàulï2024r. J$4

Ó. ²ÞÛÖáÚØÙ

¾Ñ ãÛÒÕàÖÛÕÝØØ æÕÝ (âÐàØäÞÒ) ÝÐ
ÔÞßÞÛÝØâÕÛìÝëÕ ßÛÐâÝëÕ ãáÛãÓØ
(àÐÑÞâë), ÞÚ:ÒëÒÐÕÜëÕ ¼°Ã <´ºØ¾
<<²ÞÛÖáÚØÙ>l

.Á æÕÛìî à:ÒÒØâØï Ø áÞÒÕàèÕÝáâÒÞÒÐÝØÕ, ãÛ)Û{èÕÝØï ÚÐçÕáâÒÐ ãáÛãÓ, ßàØÒÛÕçÕÝØï
´ÞßÞÛÝØâÕÛìÝëå äØÝÐÝáÞÒëå áàÕÔáâÒ ÔJUI àÐ×ÒØâØï ãáâÐÒÝÞ¹ ÔÕïâÕÛì.ÝÞáâØ ÃçàÕÖÔÕÝØï,
ßÞÒëèÕÝØï íääÕÚâØÒÝÞáâØ ØáßÞÛì×ÞÒÐÝØrI àÕáãàáÞÒ ÃçàÕÖÔÕlrØï, ßàØÒÛÕçÕÝØÕ
ÔÞßÞÛÝØâÕÛìÝëå äØÝÐÛráÞÒëå áàÕÔáâÒ ÔÛï áÞäØÝÐÝáØàÞÒÐÝØï âÕÚãéØå àÐáåÞÔÞÒ, ØÝÒÕáâØæØØ
ÚÞÜÜÕàçÕáÚØå ÞàÓÐÝØ×ÐæØ¹, ãÚàÕßÛÕÝØÕ ÜÐâÕàØtlJIìÝÞ¹-âÕåÝØçÕáÚÞ¹ ÑÐ×ë ÃçàÕÖÔÕÝØï Ø
ÞÑÕáßÕçÕÝØï ÕÓÞ äØÝÐÝáÞÒÞÙ ãáâÞÙçØÒÞáâØ, ÝÐ ÞáÝÞÒÐÝØØ ÃáâÐÒÐ Ø ¿ÞÛlíÖÕÝØï ÞÑ ÞÚrÒÐÝØØ
(ÒëßÞÛÝÕÝØØ) ßÛÐâÝëå ãáÛãÓ äÐÑÞâ) ÜãÝØæØßÐÛìÝëÜ ÐÒâÞÝÞÜÝëÜ ãçàÕÖÔÕÝØÕÜ <¿ÐàÚ
ÚãÛìâ)àë Ø ÞâÔëåÐ <<²ÞÛåáÚØÙ)) ÓÞàÞÔáÚÞÓÞ ÞÚàãÓÐ - ÓÞàÞÔ ²ÞÛÖáÚØÙ ²ÞÛtÓÞÓàÐÔáÚÞÙ ÞÑÛÐáâØ

¿À¸º°·Ë²°Î:

1. ÃâÒÕàÔØâì ¿àÕÙáÚãàÐÝâ æÕÝ(âÐàØäÞÒ) ÝÐ ÔÞßÞÛÝØâÕÛìÝëÞ ßÛÞâÝ]rIÕ ãáÛãÓØ äÐÑÞâë),
ÞÚÐ×ëÒÐÕÜëÕ ¼°Ã <¿ºØ¾ <<²ÞÛÖáÚØfu á 01.04.2024 (ßàØÛÞÖÕÝØÕ Ní1).

2. ÃâÒÕàÔØâì ÒÕÛØçØÝë ÚÞíääØæØÕÝâÞÒ ÔØáÚàØÜØÝÐæØØ ælíÝ (âÐàØäÞÒ) ÝÐ

ÔÞßÞÛÝØâÕÛìÝëÕ ßÛÐâÝëÕ ãáÛãÓØ, ÞÚÐ×ëÒÐÕÜëÕ ãràÕÖÔÕÝØÕÜ á 0t,04.2024
(ßàØÛÞÖÕÝØÕ2).

3. ·ÐÒÕÔãîéÕÙ ÞâÔÕÛÞÜ ßÐàÚÐ ÚãÛìâãàë Ø ÞâÔëåÐ ·ÞÛÞâÞÒÞÙ ¼.¼., ÓJIÐÒÝÞÜã íÚÞÝÞÜØáâã
½ØÚãÛØÝÞÙ ».². Ò àÐÑÞâÕ àãÚÞÒÞÔáâÒÞÒÐâìáï ãÓÒÕàÖÔÕÝÝëÜ ßàÕÙáÚãàÐÝâÞÜ æÕÝ
(âÐàØäÞÒ) Ø ÚÞíääØæØÕÝâÐÜØ ÔØáÚàØÜØÝÐæØØ æÕÝ (âÐàØäÞÒ) ÝÐ ÔÞßÞÛÝØâÕÛìÝëÕ
ßÛÐâÝëÕ ãáÛãÓØ, ÞÚtl×ëÒÐÕÜëÕ ãçàÕÖÔÕÝØÕÜ.
ÁçØâÐâì ãÓàÐâØÒèØÙ áØÛã ßàØÚÐ× ]ä ||l| Þâ 27.0·.202· (¾Ñ ãtÒÕàÖÔÕÝØØ
ßàÕÙáÚãàÐÝâÐ æÕÝ (âÐàØäÞÒ) ÝÐ ÔÞßÞÛÝØâÕÛìÝëÕ ßÛÐâÝëÕ ãáÛãÓØ (àÐÑÞâë)

ÞÚ.t×ëÒÐÕÜëÕ ¼°Ã <´ºØÞ <<²ÞÛÖáÚØÙ> á 01 ,04.2Ð24
ºÞÝâàÞÛì ØáßÞÛÝÕÝØï ÝÐáâÞïéÕÓÞ ßàØÚat×Ð ÞáâÐÒÛïî ×Ð áÞÑÞÙ.

4.

5.

¸,¾.ÉØàÕÚâÞàÐ ¸ÑàÐÓØÜÞÒÐ ¼.¸.



¿lrØÛÞÖÕÝØÕ}ä l ÚßàØÚÐ×ã
J\Ê 4 Þâ 0|.02.2024Ó

¿Àµ¹ÁºÃÀ°½Â
æÕÝ (âÐàØäÞÒ) ÝÐ ÔÞßÞÛÝØâÕÛìÝëÕ ßÛÐâÝëÕ ãáÛãâØ, ÞÚ�l×ëÒÐÕÜëÕ

¼°Ã Ú¿ºØÞ <²ÞÛÖáÚØÙ>

½ÐØÜÕÝÞÒÐÝØÕ ãáÛãÓØ
ßÞÚÐ×ÐâÕÛØ

âÐàØäÐ

ÉÕÝÐ (âÐàØä),

àãÑ.

<<¾àÓÐÝØ×ÐæØï ÔÞáãÓÐ ÓàÐÖÔÐÝ ÝÐ ÑÐ×Õ ßÐàÚÐ ÚãÛìâãàë
Ø ÞâÔëåa)) Ò ßÕàØÞÔ

ÁâÞØÜÞáâì

×Ð 1 ÔÕÝì

l500,00

<¾àÓÐÝØ×ÐæØï ãáÛãÓ ßÞ àit×ÒØâØî Ø ÑÛÐÓÞãáâàÞÙáâÒã
âÕààØâÞàØØ) Ò ßÕàØÞÔ

ÁâÞØÜÞáâì

×Ð 1 ÔÕÝì

1500,00



' 
¿llØÛÞÖÕÝØÕ Ns l Ú ßàØÚtr}ã

N 4 Þâ 01.02.2024r

¿Àµ¹ÁºÃÀ°½Â
æÕÝ (âÐàØäÞÒ) ÝÐ ÔÞßÞÛÝØâÕÛìÝëÕ ßÛÐâIIëÕ ãáÛãÓØ, ÞÚ�ÒëÒÐÕÜëÕ

¼°Ã <¿ºØÞ <<²ÞÛÖáÚØÙ>>

½ÐØÜÕÝÞÒÐÝØÕ ãáÛãÓØ
ÉÕÝÐ (âÐàØä),

àãÑ.
ÚÞÜÜÕÝâÐàrlØ

,ÉÕâáÚØÙ ÜÐÝÕÖ 150

,ÉÕâØ Þâ 3-å ÔÞ 8-ÜØ ÛÕâ, ÔÕâØ ÔÞ 3ÛÕâ

ÚÐâÐîâáï Ò áÞßàÞÒÞÖÔÕÝØØ Ò×àÞáÛëå

(ÔÞßÞÛÝØâÕÛìÝÞ ßÞÚãßÐîâ ÑØÛÕâ)

ºÐßáãÛÐ 150 ¾â 12 ÛÕâ (1 ÜríáâÞ)

ÁÐÛìâÞ 150 ¾â 12 ÛÕâ (1 ÜíáâÞ)

ÚÞáÜØçÕáÚ�UI áâÐÝæØï 150
, ,ÉÕâØ Þâ 3 ÔÞ 10 ÛÕâ

(ÒÕáÞÜ ÝÕ ÑÞÛÕÕ 40 ÚÓ)

ÅÐÛØ-ÓÐÛØ l50
¾â 7 ÛÕâ (ÔÕâØ Þâ 3 ÔÞ 7 ÛÕâ ÚÐâÐîâáï Ò

áÞßàÞÒÞÖÔÕÝØØ Ò×àÞáÛÞÓÞ ( ÕÔãÓ ÝÐ

ÞÔÝÞÜ ÑØÛÕ,ÓÕ)

ÀÐ_ÓrÛØ 150

¾â 5 ÛÕâ (ÔÕâØ Þâ 3 ÔÞ 5 ÛÕâ ÚÐâÐîâáï Ò

áÞßàÞÒÞÖÔÕÝØØ Ò×àÞáßÞÓÞ ( ÕÔãÓ ÝÐ

ÞÔÝÞÜ ÑØÛÕÓÕ)

,ÉÕâáÚØÙ ÐÒâÞÔàÞÜ
150

,ÉÕâØ Þâ 3 ÔÞ 8 ÛÕâ (ÒÕáÞßt ÝÕ ÑÞÛÕÕ 45ÚÓ)

²ÐÛìá 150
,ÉÕâØ Þâ Ñ ÛÕâ,(ÛÕâØ ÜÛÐÔèÕ Ñ ÔÕâ.

ÚÐâÐîâáï Ò áÞßàÞÒÞÖÔÕÝØØ Ò×àÞáÛëå)

ÇÕàÕßÐèÚØ-ÝØÝÔ×ï 150 ,ÉÕâØ Þâ 3 ÔÞ 8 ÛÕâ (ÒÕáÞßÛ ÝÕ ÑÞÛÕÕ 45ÚÓ)

,ÉÕâáÚÐï ÖÕÛÕ×ÝÐï ÔÞàÞÓÐ
150

,ÉÕâØ Þâ 3ÔÞ 8ÛÕâ (ÔÕâØ ÜÛÐÔèÕ 3 ÛÕâ

ÚÐâÐîâáï Ò áÞßàÞÒÞÖÔÕÝØØ Ò×àÞáÛÞÓÞ

( ÕÛãÓ ÝÐ ÞÔÝÞÜ ÑØÛÕâÕ)



¿àØÛÞÖÕÝØÕNs 1 ÚßàØÚ:r×ã
Ns 4 Þâ 0L.02.2024r

¿Àµ¸ÁºÃÀ°½Â
æÕÝ (âÐàØäÞÒ) ÝÐ ÔÞßÞÛÝØâÕÛìÝëÕ ßÛÐâÝëÕ ãáÛãÓØ, ÞÚil×ëÒÐÕÜëÕ

¼°Ã <¿ºØÞ <<²ÞÛÖáÚØÙ>

½ÐØÜÕÝÞÒÐÝØÕ ãáÛãÓØ
ßÞÚÐ×ÐâÕÛØ

âÐàØäÐ

[{eHa (âÐàØä),

àãÑ.

ÀÐ×ÞÒÞÕ ßÞáÕéÕÝØÕ âãÐÛÕâÐ
(ÔÛï ÓàÐÖÔÐÝ áâÐàèÕ 14 ÛÕâ)

ÁâÞØÜÞáâì

×Ð 1 ßÞáÕéÕÝØÕ
20,00

ÀÐ×ÞÒÞÕ ßÞáÕéÕÝØÕ âãÐÛÕâÐ
(ÔÛï ÔÕâÕÙ ÔÞèÚÞÛìÝÞÓÞ ÒÞ×àÐáâÐ Ø èÚÞÛìÝØÚÞÒ ÔÞ

14 ÛÕâ )

ÁâÞØÜÞáâì

×Ð 1 ßÞáÕéÕÝØÕ
10,00



]

¿lrèlÞÖÕÝØÕJrä 2 Ú ßàØÚÐ×ã
Ns 4 Þâ 0\.02.2024r

ÃâÒÕàÖÔÐî:
<¿ºØÞ <<²ÞÛÖáÚØÙ>

¸ÑàÐÓØÜÞÒÐ ¼.¸.

²ÕÛØçØÝÐ ÚÞíääØæØÕÝâÞÒ ÔØáÚàØÜØ
ÝÐ ÔÞßÞÛÝØâÕÛìÝëÕ ßÛÐâÝëÕ
(Ð×ëÒÐÕÜëÕ ¼°Ã Ú¿ºØÞ>²rÞÚÐ×ëÒÐÕÜëÕ ²ÞÛÖáÚØÙ

ÝÐØÜÕÝÞÒÐÝØÕ

ÚÞíääØæØÕÝâÐ
ÞÑÞ×ÝÐçÕÝØÕ

ÚÞíääØæØÕÝâÐ
¾ÑÔÐáâì ßàØÜÕÝÕÝØJI

ÚÞíääØæØÕÝâÐ

²ÕÛØçØÝÐ

ÚÞíääØæØÕÝâÐ

ºÞíääØæØÕÝâ
ÔØáÚàØÜØÝÐæØØ æÕÝ,

àÕÓãÛØàãîéØÙ áßàÞá ÝÐ
ãáÛãÓã, ×ÐÒØáïéØÙ Þâ ×ÞÝë

ÞÚÐ×ÐÝØï ãáÛãrØ

º×1
ÂÕààØ,ÓÞàØï, ßàØÛÕÓÐîérè Ú

<<fIÞîéÕÜã äÞÝâÐÝã>l
1,5

º×2 ÉÕÝâàÐÛìÝÜ Ð.èÕï 1,0

º×3 ·ÞÝÐ ÐââàÐÚæØÞÝÞÒ 0,6

º×4
ÂÕààØâÞàØï ßàØÛÕÓÐîéÐï Ú

×ÔÐÝØî Â¿¿
0,4

º×5

ÂÕààØâÞàØï á ÝØ×ÚÞÙ

ßàÞåÞÔØÜÞáâìî ßÞáÕâØâÕÛÕÙ

ßÐàÚÐ

0.1

0,22-0,24

0,25

ºÞíääØæØÕÝâ
ÔØáÚàØÜØÝÐæØØ æÕÝ,

àÕÓãÛØàãîéØÙ áßàÞá ÝÐ

ãáÛãry, ×ÐÒØáïéØÙ Þâ
áàÕÔÝÕÜÕáïçÝÞÙ ÒëàãçÚØ

ÚÒ1
l00000,00<

ÁàÕÔÝÕÜÕáïçÝÜ Òëà)ÛÚÐ
2,5

ÚÒ2

Ñ0000,00<

ÁàÕÔÝÕÜÕáïçÝÜ Òëà)ÛÚÐ

< 100000,00

0,8-0,9

ÚÒ3

30000,00<

ÁàÕÔÝÕÜÕáïçÝÐï ÒëàãçÚÐ

< 60000,00

0,5

ÚÒ4

10000,00<

ÁàÕÔÝÕÜÕáïçÝÐï Òëàã{ÚÐ

< 30000,00

0,3_0,45

0,35

ºÒ5
ÁàÕÔÝÕÜÕáïçÝiul ÒëàãçÚÐ

< 10000,00

0,15_0,2

ºÞíääØæØÕÝâ

ÔØáÚàØÜØÝÐæØØ æÕÝ,

àÕÓãÛØàãîéØÙ áßàÞá ÝÐ

ãáÛãry, ×ÐÒØáïéØÙ Þâ

Úß
½ÕÑÛÐÓÞßàØïâÝëÕ ßÞÓÞÔÝëÕ

ãáÛÞÒØï
0,9



ßÞÓÞÔÝëå ãáÛÞÒØÙ u r.4

ºÞíääØæØÕÝâ

ÔØáÚàØÜØÝÐæØØ æÕÝ,

àÕÓãÛØàãîéØÙ áßàÞá ÝÐ

ãáÛãÓã, ×ÐÒØáïéØÙ Þâ
ÚÐâÕÓÞàØØ ÓàÐÖÔÐÝ

ºá

ÁÞæØÐÛìÝÞ-ÝÕ×ÐéØéÕÝÝëÕ áÛÞØ

ÝÐáÕÛÕÝØï
0,5_0,55

¸ÜÕîéØÕ áâÐâãá ÜÝÞÓÞÔÕâÝÞÙ

áÕÜìØ (ßàØ æàÕÔìïÒÛÕÝØï

ãÔÞáâÞÒÕàÕÝØï ÜÝÞÓÞÔÕâÝÞÙ

áÕÜìØ)

0,8

ºÞíääØæØÕÝâ
ÔØáæàØÜØÝÐæØØ æÕÝ,

àÕÓãÛØàãîéØÙ áßàÞá ÝÐ

ãáÛãÓã, ×ÐÒØáïéØÙ Þâ ÞáÞÑëå
, ãáÛÞÒØÙ

Kol
¿ÞÒëèÕÝÝëÙ áßàÞá ÝÐ ÞÚ�ÒÐÝØÕ

ãáÛãÓØ

4,5-5

4

7,2

ºÞ2 ,ÁàÞçÝÞáâì ÞÚrÒÐÝØï ãáÛãÓØ 2

ºÞ3 ÁÛÞÖÝÞáâì ÞÚÐ×ÐÝØï ãáÛãÓØ 1,8

ºÞ4
¾âáãÓáâÒØÕ áßàÞáÐ ÝÐ ÞÚ�æiÐÝØÕ

ãáÛãÓØ
0,6-0,7

ºÞ5

¾âáãÓáâÒØÕ ÝÐ ãçÐáâÚÕ
ÚÞÜäÞàâÝÞÙ áàÕÔë ÔÛï

ÔÕïâÕÛìÝÞáâ¸ çÕÛÞÒÕÚÐ

0,04

ºÞÑ

±ÛÐÓÞãáâàÞÕÝÝçu{ âÕààØâÞàØï

ßàØÒÛÕÚÐâÕÛìÝÞÙ áàÕÔë Ø

ãÔÞÑáâÒÐ ÔÛï ÝÐáÕÛÕÝØï

1,0-1,1



àÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "ÞàÓÐÝØ×ÐæØï ãáÛãÓ ßÞ àÐ×ÒØâØî Ø ÑÛÐÓÞãáâàÞÙáÓÒã "

't.¿àïÜëÕ ×ÐâàÐâë ÛlÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

1.'l. ÞßÛÐâÐ

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà,=991ßÞÞç+ÝßàÞç/ÄÞâ ÞáÝ+ÝÞáÝ 47848,50 / 65591,90 0,729487894
4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãrØ.
á-àßà.+àßà*|(æà.= 65591 ,9+65591 ,9*0,61 1 1281 8,07

5, ÀÐáçÕâ âÐàØäÐ ãáÛãÓØ ×Ð 1 ÔÕÝì á }ÝÕâÞÜ àÝâÐÑÕÛìÝÞáâØ 150%
â=á+150% 282045,17
6. ¿ÛÐÝØàãÕÜÐï ßàØÑëÛì ×Ð l92 ×ÐÚÛîçÕÝÝëå ÔÞÓÞÒÞàÞÒ Ò ÓÞÔ
²ÕÛØçØÝÐ âÐàØäÐ ÝÐ 1 ãáÛãry ÒÔÕÝì = 1468,98526

Á àÕâÞÜ ÞÚàãÓÛÕÝØï, ÒÕÛØçØÝÐ âÐàØäÐ ÒÔÕÝì = 1500,00 àãÑÛÕÙ

ÓÛ.íÚÞÝÞÜØáâ ».².½ØtæãÛØÝÐ

ÞáÝÞÒÝÞÓÞ Ø ÝÐçØáÛÕÝØï ÝÐ

ÉÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ áÚÛÐÔ

áâØÜãÛØàãî
éØÕ ×Ð áçÕâ
ßlè ¸âÞÓÞ ÄÞÂ

ºÞÛ-ÒÞ

æÝÕÙ/ÜÕá

¸âÞÓÞ ÄÞÂ ×Ð
êÔ

3ÐÒÕÔãîéØÙ ÞâÔÕÛÞÜ ßÞàÚÐ
(ãÛìâãàë Ø ÞâÔëåÐ 1,00 ,l0810,0c 21620.0á ×2430,00 12 (365) 506686,32
ÝÐçØáÛÕÝØï ÝÐ ÞßÛÐw âDçÔÐ ,l 5×0,19,2686
¸âÞÓÞ 659705,59
²áÕÓÞ ×ÐâàÐâ ÝÐ ÞßÛÐâã âàãÔÐ 54975,47

ìÝëÕ

áâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ ßÞÔâÒÕÞÔÐîèØÕ ÔÞÚçÜÕÝâë. DÐáçÕâ ÒáÕÓÞ ×Ð ÓíÔ ×áÕÓÞ ×Ð ÔÕÝì
ÚÞáÓã.346
±ãÜÐÓÐ Ð4

.ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ççÕâÐ
55 00i],0c 150,68

±ÛÐÝÚØ 70 00l],0c 191 ,78
¸âÞÓÞ 342,47

10 8,t6.4.4

²áÕÓÞ ßàïÜëå ×ÐâàÐâ á ÞßÛÐâÞÙ âàãÔÐ áÞâàãÔÝØÚÞÒ ,, ýý ý91.90

2.1. ÀÐáçÕâ ÞßÛÐâë

ÉÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ 0ÚÛÐÔ

áâØÜãÛØàãî
éØÕ ×Ð áçÕâ
ßIæ ¸âÞÓÞ ÄÞÂ

ºÞÛ-ÒÞ

ÔÝÕÙ/ÜÕá

¸ÂÞ³Þ ÄÞÂ ×Ð
ÓÞÔ á

²ÞÔØâÕÛì ÐÒâÞÜÞÑØÛï 1 800á 9000 31 (365) 1 08000
ÓÛÐÒÝëÙ íÝÕàÓÕâØÚ 1 1200á 12000 31 (365) 144000
¼ÕåÐÝÝØÚ 1,5 1050á 1 575á ×1 (365) 1 89000

ØâOÓÞ 441 000
ÝÐçØáÛÕÝØï ÝÐ ÞßÛÐry âàãÔÐ 1××182
¸âÞÓÞ 574182,00
ÒáÕÓÞ ×ÐâàÐâ ÝÐ ÞßÛÐâç âDçÔÐ 47848,50



ßàØÚ°×

u-l(rn'.

Ó. ²ÞÛÖáÚØÙ

.l : l

¾Ñ ãâÒÕàÖ,d"ä" æÕÝ (âÐàØäÞÒ) ÝÐ

ÔÞßÞ.liÝØâÕriàrpl" ßÛÐâÝëÕ ãáÛãÓØ
(àÐÑÞâë); Þi<Ð×ëÒÐÕÜÔÕ ¼°Ã <¿ºØ¾
Ú²ÞÛïááÚØÙi> r,

, i, i,
, ';,ll;×"{il,,; ri il,,,],. i,i:

á ædÛìÎ àÐ×ÒØâØï Ø áÞÒÕàèÕIIáâÒÞÒÐÝØÕ, ãÛãçèÕÝØï ÚÐçÕáâÒÐ Ãá»ÃÓ, ßÀØ²»ÕÇÕ½¸Ï

ÔÞßÞÛÝÙiÕÛiÙilå'äØ½ÐÝáÞÒìÓå áàÕÔáâÒ ÔÛï àÐ×ÒØâØï ãáâÐÒÝÞÙ ÔÕïâÕÛìÝÞáâØ ÃçàÕÖÔÕÝØï,

ßÞ"urè.*rd i íääÕéâØÒÝÞáâØ ØáßÞÛì×ÞÒÐÝØï àÕáãàáÞÒ ÃçàÕÖÔÕÝØï, rràØÒÛÕçÕÝØÕ

ÔÞßÞÛÝØâÕéìÝëå äØÝÐÝáÞÒëå áàÕÔáâÒ ÔÛï áÞäØÝÐÝáØàÞÒÐÝØï âÕÚãéØå àÐáåÞÔÞÒ, ØÝÒÕáâØæØØ

ÚÞÜÜÕàçÕái"å,ÞàruæØ×ÐæØÙ, ãÚàÕlrÛÕÝØÕ ÜÐâÕàØÐÛìÝÞÙ-âÕåÝØçÕáÚÞÙ ÑÐ×ë ÃçàÕÖÔÕÝØï Ø

ÞÑÕáßÕ-çÕÝ",fu. gao .6rçÐÝáÞÒÞÙ ã"rÞ¸rruÞáâØ, ÝÐ ÞáÝÞÒÐÝØØ ÃáâÐÒÐ Ø ¿ÞÛÞÖÕÝØiâ ÞÑ ÞÚÐ×ÐÝØØ

(ÒëßÞÛÝÕÝrtÙ)i .ßßirßrìÖ ãáÛãÓ (àÐÑÞâ) ÜãÝØæØßÐJIìÝëÜ ÐÒâÞÝÞÜÝëÜ ãçàÕÖÔÕÝØÕÜ <¿ÐàÚ

ÚãÛìâãàë,iÞrÔr*Ð ÚÒÞÛÖáÚØÙ> ÓÞàÞÔáÚÞÓÞ ÞÚàãÓÐ - ÓÞàÞÔ ²ÞÛÖáÚØÙ ²ÞÛÓÞÓàÐÔáÚÞÙ ÞÑÛÐáâØ

1:,,
¿À¸º°ÌË²°Î:

ãáÛãÓØ
Ú¿ºØÞ

¸ÑàÐÓØÜÞÒÐ ¼.¸.

,I
l2024 Ó,



¿Àµ¹ÁºÃÀ°½Â

¿àØÛÞÖÕÝØÕNs 1 ÚßàØÚÐ×ã
Þâ 2024r.

ßàÞÔÐÖÐ

}lê

æÕÝ;(âÐl

]i , , '' l:,, lIrDÃI\-\Ãrl
l

4ç) ÝÐ ÔÑßÞÛÝØâÕÛìÝëÕ ßÛÐâÝëÕ ãáÛãÓØ
i , , ÝÐßØâÚÞÒ)), ÞÚÐ×ëÒÐÕÜëÕ ¼°Ã

<¾àÓÐÝØ×ÐæØï ãáßãÓ ßØâÐÝØï (.

Ú¿ºØÞ <²ÞÛÖáÚØÙ>

ßÞÚÐ×ÐâÕÛØ

âÐàØäÐ

ÉÕÝÐ (âÐàØä),

àãÑ.

ï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:

ÚÐ¿ãçØÝÞ, 250 ÜÛ)"

ÁâÞØÜÞáâì

×Ð t ßÞàæØî
100,00

,,i
"¾àÓÐÝØiÐæØï ãáÛãÓ tIØâÐÝØï (ßàÞÔÐårÐ ÝÐßØâÚÞÒ:

, ÔÒÞÙÝÞÙ íáßàÕááÞ, 170 ÜÛ)"

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:
ÛÐââÕ,250 ÜÛ)"

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

j':
" ¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ :

, i , ÐÜÕàØÚÐÝÞ,200ÜÛ)"
i '': :

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

:

"¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐåáÐ ÝÐßØâÚÞÒ:
j ÓÞàïçØÙ èÞÚÞÛÐÔ,250 ÜÛ)"

, '; !ir,,], i ,i

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

] ,, ,

"¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:

i ÚÞÚÞáÞÒëÙ àÐä,250 ÜÛ)"
j

: ' 
]ll ,j ] .,

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:
ÜÞÚÐçØÝÞ,250 ÜÛ)"

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

"¾àÓÐÝØq×æØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐåáÐ ÝÐßØâÚÞÒ:
l' ÚÞÚÞáÞÒëÙ ÛÐââÕ, 250 ÜÛ)"
|:l' ;

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
100,00



ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

"ÞàÓ9 ã!íÛãÓ.ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ :

ÔÐæâÕ, 350 ÜÛ)"

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

.il ] ].

t

ætzï ãàÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:

l , ÜÞ_ÚÐçØÝÞ, 350 ÜÛ)"

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

],
"¾àÓÐÝØ·Ð¹ï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:

, äÛÕÙâ ãÐÙâ, ·50 ÜÛ)"

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

ii
ï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:

*ÐÚÙÐrÞ, 350 ÜÛ)"
:',t,'..,i

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

:

" ¾à ÓÐÝØqà,æl4ï ãáÛãÓ ßØâ ÐÝØï (ßàÞÔÐåáÐ Ý ÐßØâÚÞÒ :

;ÚÞÚÞáÞÒëÙ ÚÐßãçØÝÞ) 350 ÜÛ)"
i,

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

ãáÛãJ IIØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ:
ÚÞÚÞáÞÒëÙ ÛÐââÕ, ·50 ÜÛ)"
:i , ]

ÁâÞØÜÞáâì

×Ð 1 ßÞàæØî
150,00

,'!| a,a|1

. ] i:. !'j- '

:]

.j i_ I:,: :9. _

'] i'iii ljl, i

. {,,

ãàÛãÓ, ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ :

;ýÀ¿Y;Ç¸½¾, 
350 ÜÛ)"

"¾àÓÐ_ÝØ:

, ii.i'iij,: .,]r .,
.l "

Â{"'" , ;- "-,:
l, , 

;

]l.
i-iI,| ll ,'"_'- i,'" "



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØsÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÚÐßãçØÝÞ, 250 ÜÛ)"

ÁâÐâìï Ø ÝÐØÜÕÝOÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓOâOÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâOØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ

æÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã ×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,

ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,00 èâ
,10,09

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÒÝØî 1 ÀÐáçÕâ

áàñÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

10,09

)ëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ
,1,0á èâ 4,55 4;55

ÀÐ·ÜÕèØÒÐâÕÛØ ÔÛï ÚOäÕ 14-1íáÜ, ÔÕàÕÒïÝliëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ, 1,0á èâ 1,76

1,76

ºÞäÕ Ò ×ÕàÝÐå 1 Óà 1,30 15,60

¿Þ-DæØÞr.{Ýë¹Ñ¹±Ù G,ÐåÐà Ò áâØÚÐå, 5 Óà,/èâ 10,00 Óà 1.14 11,4Ð

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 40,00 Óà 0,Ò4 33,65

²ÞÔÐ

180,00 ÜÛ 0,01
flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
1,61

ØlâÞÓá

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2,1. ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ

[ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞÓÞ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 ×92Ò5,62 164,42 0,67 160,09 5,26

Ó]ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

¸âÞÓÞ 6,ts5

2,2

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞDâv 2.7 Ú²â)

0,02 11,75 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ 0,24
¸âÞÓÞ Þ,2

2.3,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

ÁØàÞß ÔÛï ÚÞäÕ

10,00 ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×'ÐæØØ

ãÞÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
frn Û \/ -ßØ,rÛ -RÐßçÐvrlÙrr l /\)

¸âÞÓÞ 7,2á

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà,=991ßÞÞ,,+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.

6,²5+0,24+7,2/7²,66= 0,18

Á=Àßà.+ÀÚà.=Àßà.+Àßà*ºÚà.= 78,66+(78,66-0,1²)= 92,95

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 8%

¿=Á*8% 7,44
6. ¿ÞÛÝÐï áâÞØÜÞáâì ,t ßÞàæØØ ,100,38

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì ,1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëÙ íÚÞÝÞÜØáâ ½ØÚãÛØÝÐ »,²,

¼°Ã <¿ºØÞ <²ÞÛÖáÚØÙ>



ÀÐáçÕâ iâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÔÒÞÙÝÞÙ ÞáßàÕááÞ, 170 ÜÛ)"

ëÕ ÞÚÐ×ÐÝØï

ÁâÐâìï Ø ÝÐØÜÕÝOÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ

ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã ×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

,1,0á èâ 10,09 ´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞÙÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

10,0ý

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,0á èâ 4,55 4,55

àÐ×ÜÕéØÒÐâÕÛØ ÔÛï ÚÞQÕ,l.+-,líáÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ,

1,0á èâ 1,76
1,76

ÚÞäÕ Ò ×ÕàÝÐå 16,0á Óà
,1,3á ¼°Ã º¿º¸¾ º²¾»¶Áº¸¹>

,ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ

2Þ,â

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 10,0á Óà 1.14 l,4U

²ÞÔÐ

170,00 ÜÛ 0,01
1,52

¸âÞÓÞ 50,1 2

2.1. ÞßÛÐâÐ ÞÝÐÛÐ Ø ÝÐçØáÛÕÝØï ÝÐ

!ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáOÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 392Ò5,62 164,42 0,67 160,0� 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

¸âÞÓÞ 6,Ò5

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛÙçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ,
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ

ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜ¸ÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞàâç 2,7 Ú²â)

0,02 11,75 .ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
0,24

¸âÞÓá 0,24

2,3,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
æÞÚçÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

10,00 ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî,l ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÞÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
[ÛÔv rzßkrrÞ zRßßçßçØÙlr 7,2á

¸âÞÓÞ I ,ZL

3, ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=Ä9lßÞÞr+½ßàÞç/ÄÞâ ÞáÝ+½ÞáÝ 6,85+0,24+7,2150,12= 0,29

Q=àßà;+Àæà.=Àßà.+Àßà*ºÚà.= 50,12+(50,12*0,28)= ý{,49

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 55%

¿=Á*55% 35,42
6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 99,²3

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì ,1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëÙíÚÞÝÞÜØáâ 
¸

½ØÚãÛØÝÐ »,²



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ ''¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÛÐâÓÕ, 250 ÜÛ)"

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
,l 

ßÞàæØØ µÔ, Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ.. àçÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë, àÐáçÕâ

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,

ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ
1,00 èâ 10,09

´ÐÝÝëñ áÞrÛÐáÝÞ
ßàØÛÞÖÕÝØî,l ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØâÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

10,09

àëèÚÌ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1.0 èâ 4,55 4,55
ÝÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞÄÕ lz+-15cM, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,00 èâ 1,7á
1,7á

ºÞäÕ Ò ×ÕàÝÐå Ò,00 Óà 1,3á ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàl
¼°Ã <¿ºØÞ <²ÞÛÖáÚØÙ>

10,4á

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 10,00 Óà 1.1 11,4á

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 50,00 Óà 0,84 42,07

²ÞÔÐ

,l90,00
NÛÛ 0,01 ,ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
1,70

¸âÞÓá 81,97

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2,1, ÞßÛÐâÐ ß Ø ÝÐçØáÛÕÝØï ÝÐ

!ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò
ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ-

ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸ÂÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÍàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 202· ÓÞÔ 1,00 392Ò5,62 164,42 0,67 160,0µ 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

¸âÞÓÞ 6,Ò5
,2.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ,1

ßÞÞæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.223

ÍÛÕÚâàÞÞÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ß0

ßÐáßÞàâã 2,7 Ú²â)

0,02 11,75 fiÐÝÝëÕ ÑãårÐÛâÕàáÚÞÓÞ

ãçÕâÐ
0,24

¸âÞÓá 0,24

.3.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ*ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ,

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã,346

ÁØàÞß ÔÛï ÚÞäÕ

10,0á ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ·ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
ßß´V /ßtrlrÛ -ÐÐßçÐãr;Ùr, 7,2á

¸âÞÓá l .zL

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=qglßÞÞ.,+½ßàÞç/Ä¾Â ÞáÝ+½ÞáÝ

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ,

6,85+0,24+7,2/81 ,97= 0,17

Á-Àßà.+Àæà.=Àßà,+Àßà*ºÚà.= 81 ,97+(81 ,97*0,1 7)= ýý,25

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ4¾Ê
¿=Á*4Þ/Þ 3,85

6. ¿ÞÛÝÐï áâÞØÜÞáâì,l ßÞàæØØ 100,10

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëØ íÚOÝÞÜØáâ ½ØÚãÛØÝÐ ».².



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÜÐÚØÐâÞ, 250 ÜÛ)"

1.ß ÞÚÐ×ÐÝØï
1,1,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ÐÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâOÒÛÕÝØï

1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ

æÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ

áâÞØÜÞáâì, àãÑ,

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,0á èâ 10,09
flÐÝÝëÕ áÞÓÛÐáÝÞ

ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ, áàÕÔÝÕÙ áâÞØÜÞáâØ
¼ÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
¼°Ã <¿ºØÞ (²ÞÛÖáÚØÙ)

10.09

ÚÞëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 ÞÜ 1.0á èâ 4,55 4

ÀÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞÄÕ 14--lccÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×OÒëÕ,

1,00 èâ 1,7
1,7Õ

ÚÞäÕ Ò ×ÕàÝÐå 10,00 Óà 1,3á 13,0á

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 10,00 Óà 1,14 1,4á

3ÐÜÕÝØâÕÛì áçåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 25,00 Óà 0,84 21.0×

²ÞÔÐ

190,00 ÜÛ 0,01 flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
1,7á

¸âÞÓá 63,53

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë Üï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2,1. ÞßÛÐâÐ ß Ø ÝÐçØáÛÕÝØï ÝÐ

!ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ. DVÑ,

ÁàÕÔÝÕÕ ÚÞÛ,
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞÓÞ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 39285,62 164,42 0,67 160,09 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

¸âÞÓÞ 6,85
2,2.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ,1

ßOàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞàâç 2,7 Ú²â)

0,02 11,75 flÐÝÝëÕ ÑãårÐÛâÕàáÚÞÓÞ

ãçÞâÐ
0,24

¸âÞÓá 0,24

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ.. ÞçÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë. àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àçÑ,

ÚÞáÓã,346

áØàÞß ÔÛï ÚÞäÕ

"l0,00 ÜÛ Þ,72

,ÉÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
'ßrÛ\/ .,ßØ,.Û -DÛ±!,Ûwl|Ù* 7,2á

¸âÞÓá 7,2á

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=qglßÞÞ,]+½ßàÞç/ÄÞâ ÞáÝ+½ÞáÝ 6,85+¾,24+7,2/63,53= 0,22

4, ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q=plp. +Àæà. = Àß à. +Àßà*ºÚà.= 63, 53+(63, 5·*0,22)= f f ,62

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØÙ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ29¾/Þ
¿=Á*29% 22,57

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 100,39

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

½ØÚãÛØÝÐ ».².



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÐÜÕàØÚÐÝÞ, 200 ÜÛ)"

1.ß ÞÚÐ×ÐÝØï
,1,1,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâOÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. àÐáçÕâ

¸âÞÓÞ

íâÞØÜÞáâì, àãÑ

ÚÞáÓã,×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ,,ÞÑìÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,

ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø Ó9à!!]4Ô æqßæ]é9µ_
1,00 èâ 10,09 ´ÐÝÝëÕ áÞÓÛÐáÝÞ

ßàØÛÞÖÕÝØî 1 ÀÐÞçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛñÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

10,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,00 èâ 4,55 4,55

àÐ×ÜÕèØÒÐâÕÛØ ÔÛï KoÄe,lZ+-,lcc¼, ÔÕàÕÒïFlliëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,00 èâ 1,7Õ
1,7Õ

ÚÞäÕ Ò ×ÕàÝÐå 12,00 Óà 1,3á ¼°Ã <¿ºØÞ <²ÞÛÖÞÚØÙl

´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ

15,6á

¿ÞÞæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 10,00 :à 1,14 1,4t

²ÞÔÐ

200,00 ÜÛ 0,01
1,79

¸âÞÓá 45,19

2.1. ÞßÛÐâÐ ß Ø ÝÐçØáÛÕÝØï ÝÐ

´ÞÛÖÝÞáâì

ÚÞÛ_ÒÞ

èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ-

ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸ÂÞÓÞ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 39285,62 164,42 0,67 160,09 5,2�

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐry âàãÔÐ 1,59

¸âÞÓÞ 6,85

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ, Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó,)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ß0

ßÐáßÞàâã 2,7 Ú²â)

0,02 11,75 !ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
0,24

¸âÞÓÞ U,2

2.×. ØÐÛë

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚVÜÕÝâë. DÐáçÕâ

¸âÞÓÞ
íâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

áØàÞß ÔÛï ÚÞäÕ

10,00 ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
n' Ô \/ -ßÙtlÛ -ÞÛ_{.Û,lrÙ* 7,2á

¸âÞÓá l ,ZL

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=q9ÂßÞÞç+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,Ò5+Þ,24+7,2/45,19= 0,32

Q=àßà.+àæà,=Àßà.+Àßà-ææÞ.= 45, 1 9+(45, 1 9*0,32)= ý9,47

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 68%

¿=Á*6²% 40,44

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 99,92

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

½ØÚãÛØÝÐ ».².



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÓÞàïçØÙ tÛÞÚÞÛÐÔ, 250 ÜÛ)"

ëÕ ÞÚÐ×ÐÝØï

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
,1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜOáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ

ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì. ßçÑ.

ÚÞáÓã 346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,0á éâ
,10,09

´ÐÝÝëÕ áÞrÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ ÞâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâ9ÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
' ¼°Ã <¿ºØÞ <²ÞÛÖáÚØÙ>

,ÉÐÝÝ ëÞ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ

10,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,0á èâ 4,55 +,5ì

ÝÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞQÕ lZ+- locM, ÔÕàÕÒïÝtiëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,0á èâ 1,76
1,76

³ÞàïçØÙ èÞÚÞÛÐÔ 40,0á Óà 0,69 27,59

¿ÞàLlØÞÝÝ±lÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà,/èâ ,10,0á
Óà 1,14 1,4U

²ÞÔÐ

160,0á ÜÛ 0,01
1,4×

¸âÞÓÞ 5tj,62

. ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ

´ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

0àÕÔÝÕÕ ÚÞÛ-
×Þ çÐáÞÒ Ò

NÛÕáïæ ÔÛï
áÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,0á ×9285,62 164,42 0,67 160,0ý 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

zlâÞÓÞ 6,85

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó,)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞæÝÞáâì ß0

ßÐáßÞàâã 2,7 Ú²â)

0,02 11,75 flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ

ãçÕâÐ
0,24

¸âÞÓá 0,24

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓOâÞÒÛÕÝØï
,1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã,346

ØàÞß ÔÛï ÚÞäÕ

10,00 ÜÛ Þ,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

.ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
nnAV -ßtr|iÛ -ÀÐ-*ÐçØÙ* 7,2Þ

¸âÞÓÞ 7,20

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=Ä9lßÞÞr+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,Ò5+0,24+7,2/56,82= 0,25

Q=àÛà. +Àæà. =Àßà. + Àßà*ºÚà. = 56, 82+(56,8 2* ¾,25)= f 1,1 1

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑìiÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ4l¾/Þ
¿=Á*41% 29,15

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 100,26

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëØ íÚÞÝÞÜØáâ ½ØÚãÛØÝÐ ».².



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÚÞÚÞáÞÒëÙ àÐä, 250 ÜÛ)"

lÛï ÞÚÐ×gÝØï
ìÝëÕ ×ÐâàÐâl

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓOâOÒÛÕÝØï

1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
×âOØÜOáâì ×Ð
íÔ.. ÞçÑ,

¿ÞÔâÒÕàÔÐîéØÕ

ÔÞÚãÜÕÝâë, àÐáçÕâ
ÚÞáÓã,×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1ßa èâ 10,09
´ÐÝÝëÕ áÞÓÛÐáÝÞ

ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

10,09
ºàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ ,1,0á èâ 4,55 4,5í
àÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞäÕ 14-'1ìáÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ3OÒëÕ

1,0á èâ 1,76
1,76

ÚÞäÕ Ò ×ÕàÝÐå Ò,Oá Óà
,1,30 ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

Ü]°Ã (ßÚØÞ <²ÞÛÖáÚØÙ>
10,40

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 10,0á Óà 14 11,4Ð

ÁÜÕáì áãåÐï ÔÛï À°Ä áÞ ÒÚãáÞÜ º¾º¾Á 55,0á Óà 0,65 35,93

²ÞÔÐ
190,00 ÜÛ 0,01 flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
1,7Ð

¸âÞÓÞ 75,8l
2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2,1 ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ

ÉÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àãÑ,

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáOÒ ×Ð
ÜÕáïè

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕGïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐÞÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
æÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕDáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 39285,62 164,42 0,67 ,160,09 í,Zá
ÝÐçØáÛÕÝØï ÝÐ ÞßÛÐâç âàçÔÐ 1,59
¸âÞÓÞ tj,6b

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞàâã 2,7 Ú²â)

0,02 11,75
0,24

¸âÞÓá 0,24

áâÐâìï Ø ÝÐØ[ÛÕÝÞÒÐÝØÕ

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

·. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=69rßÞÞ.,+½ßàÞç/Ä¾Â ÞáÝ+½ÞáÝ

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q=Àßà.+ÀÑà.=Àßà.+Àßà*ºÚà.= 75,8·+(75,83-0,19)= BQ,12

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 11¾Ì

¿=Á*1 1% 9,91

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 100,03

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

6,85+0,24+7,2/75,Ò×= 0,1 9

ÓÛÐÒÝëØ íÚOÝÞÜØáâ ½ØÚãÛØÝÐ ».².



ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ,

¿ÞÔâÒÕàÔÐîéØÕ

ÔOÚçÜÕÝâë, àÐáçÕâ

¸âÞÓÞ

áâÞØÜÞáâì, àãÑ

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑìÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,0á èâ 10,09

´ÐÝÝëÕ áÞrÛÐáÝÞ
' ßàØÛÞÖÒÝØî,l ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

¼°Ã (ßÚØÞ <²ÞÛÖáÚØÙ>

,l0,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1.0á èâ 4, 4,55
àÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞÄÕ 14-,líáÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,0á èâ 1,7á
1,7á

ºÞäÕ Ò ×ÕàÝÐå ,12,0á
Óà 1.3á

lÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà,/èâ 10.0á rà 1,1 1,4á

·ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 20,00 Óà 0,84 16,8×

ÁÜÕáì áãåÐï ÔÛï À°ä áÞ ÒÚãáÞÜ ÚÞÚÞá 15,00 Óà 0,65 9,80

²ÞÔÐ
200,00 ÜÛ 0,01 ´ÐÝÝì!Õ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâ�

1,79

2,ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ,

2.1. ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÞÝÐÛÐ

ÚÞÛ-Ò0
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ
Ò ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐÞÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1.0á 392Ò5,62 164,42 U,o / 160,09 5,2Õ

ÝÐçØáÛÕÝØï ÝÐ ÞßÛÐây âàçÔÐ 1,59

ÐÛìÝëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚOÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞDuØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ,
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
íâÞØÜÞáâì, àçÑ

ÚÞáÓã.223

0,02 11,75 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâ�

0,24
¸âÞÓá 0,24

2,3.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë. àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àçÑ.

ÚÞáÓã.346

ÁØàÞß ÔÛï ÚÞäÕ

,10,0á ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜdâÕàØÐÛÞÒ ÔÛï

ßàØrÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
n' Û\/ -ßØ,lÛ -DÛ-{.Ûl,,.Ù- 7,2Þ

¸âÞÓÞ l,2u

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=qglßÞÞr+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+7,2l71,81= 0,20

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ,
Q=Àæà.+Àæà.=Àßà.+Àß,à-ºÚà.= 7 1,81+(7 1,²1 *0,20)= $ý"| 9

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 16%
¿=Á*16% 13,78

6. ¿ÞÛÝÐï áâÞØÜÞáâì 'l ßÞàæØØ 99,88

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì ] ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëÙ ÞÚÞÝÞÜØáâ ,%"U,tr ½ØÚãÛØÝÐ ».²



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÜÞÚÐçØÝÞ, 250 ÜÛ)"

1,¿àïÜëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.
ëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð

ÕÔ., àçÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì. àçÑ,

ÚÞáÓã.×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ù ÓÞàïçØå ÝÐßØâÚÞÒ

1,00 èâ ,10,09

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå

ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
¼°Ã (ßÚØÞ (ÒÞÛÖÞÚØÙ)

10,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,00 èâ 4 4,55
àÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞÄÕ 14-1íáÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,0á èâ 1,76
1,76

ºÞäÕ Ò ×ÕàÝÐå 8,0á Óà 1,30 10,40

lÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà,/èâ 10.0á Óà 1,14

·ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 15,0á Óà 0,Ò4 12,62

ÓÞàïçØÙ èÞÚÞÛÐÔ 15,0á Óà U,ov 10,35

²ÞÔÐ

190,00 ÜÛ 0,01 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

1,7á

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

. ÞßÛÐâÐ ßÕ Ø ÝÐçØáÛÕÝØï ÝÐ

´ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ
Ò ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ.

ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞÓÞ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,0á 39285,62 164,42 0,67 160,09 5,2á

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ ,59

2.2.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó,\

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. ÞÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã,223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞlÔÝÞáâì ßÞ

ßÐáßÞàâç 2,7 Ú²â)

0,02 ç 11,75 ,ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâ�

0,24
¸âÞÓá 0,24

2.3,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔOÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ,

ÚÞáÓã.346

áØàÞß ÔÛï ÚÞäÕ

10,0á ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØrÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
ßr°\/ -ßØt.° -ÄÛirlrÛ,,|,Ù* 7,2Ð

¸âÞÓÞ 7,2Ð

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=691ßÞÞr+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+7,2/62,86= 0,23

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q=àÛà,+àæà.=àßà.+àßà*ÚÚà. = 62,86+(62,86*0,21)= f 7,1 5

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 30%
¿=Á*30% 23,15

6, ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 100,30

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëÙ íÚÞÝÞÜØáâ 
¸/

½ØÚãÛØÝÐ ».².



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÚÞÚÞáÞÒëÙ ÛÐââÕ, 250 ÜÛ)"

1.¿àïÜëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.
ØÐÛìÝëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð

ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîrÛØÕ
ÔÞÚVÜÕÝâë, 0ÐáçÕâ

¸âÞÓÞ

áâÞØÜÞáâì, àãÑ

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

,1,0á èâ 10,09

´ÐÝÝëÕ áÞÓÛÐÞÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

10,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1.0á èâ 4, 4,
ÀÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞäÕ 14-'lbc¼, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕæÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,0á èâ 1,7á
1,7Õ

ºÞäÕ Ò ×ÕàÝÐå ,0á Óà 1,×( 10,4(
¿ÞàæØÞÝÝëÙ ÑÕÛëÙ ÞÐåÐà Ò áâØÚÐå, 5 Óà./èâ 10,0á ÓÞ 1.1 ãáÛãÓ âÕààØâÞàØØ

¼°Ã Ú¿ºØÞ <²ÞÛÖáÚØÙ>

×ÐÜÕÝØâÕÛì áçåØå áÛØÒÞÚ (ÓàÐÝçÛØàÞÒÐÝÝëÙ) 25,0á Óà 0,84 21,0í

ÁÜÕáì áãåÐï ÔÛï À°Ä áÞ ÒÚãáÞÜ º¾º¾Á 10,00 Óà 0,65 Þ,íJ

²ÞÔÐ
1Ò0,00 ÜÛ 0,01 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâa

1,61

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ,

2.1, ÞßÛÐâ,Ð

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ
Ò ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ.
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ ÄÞÂ ×Ð ÜÕáïæ

¸âÞÓÞ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,0á 39285,62 164,42 0,67 160,0� 5,26
½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1.59

2.2. ìÝëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë, DÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì.,ÞçÑ,

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞàâV 2,7 Ú²â)

0,02 ç 11,75 ÆÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

0,24
¸âÞÓÞ 0,24

2.3,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàçØØ µÔ, Ø×Ü,

ÍàÕÔÝïï
íâÞØÜÞáâì ×Ð
íÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ

ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
ÞâÞØÜÞáâì. àçÑ

ÚÞáÓã.346

ØàÞß ÔÛï ÚÞäÕ

,10,00 ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãr ßØâÐÝØï ÝÐ âÕààØâÞàØØ
irÛ\/,.ßØ!lÛ,.ÞÛ¡!.Ûvl.Ù.. 7,2á

¸âÞÓá 7,2á

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=q6lßÞÞr+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,²5+0,24+7,2/67,38= 0,21

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
á=àßà.+ÀÚà.=Àßà.+Àßà*ºÚà.= 67,38+(67,38-0,21 )= 81,66

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ,ßàØÑëÛØ á 1 ßÞàæØØ G ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ22¾Ì
¿=Q*22YÞ 17,97

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 99,63

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëÙíÚÞÝÞÜØáâ ,ä ½ØÚãÛØÝÐ ».².

11,

Ø ÝÐ



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: äÛÕÙâ ãÐÙâ, 250 ÜÛ)"

1.¿àïÜëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

ÁâÐâìï Ø ÝÐØÜÕÝOÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâOÒÛÕÝØï
,l 

ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâOØÜOáâì ×Ð
ÕÔ,, àçÑ,

¿ÞÔâÒÕàÔÐîæØÕ
ÔÞÚçÜÕÝâë. DÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã,346

ÁÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑìÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
æÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,00 tÛâ ,10,09

´ÐÝÝëÕ áÞrÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÌÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØíÐæØØ

10,09

ºàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,00 JJT 4,55 Ûµµ

rÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞáàÕ l4- líáÜ, ÔÕàÕÒïFlllëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,00 Ûâ 1,7á
1,7Õ

ºÞäÕ Ò ×ÕàÝÐå 10,00 -à 1 ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
¼°Ã <¿ºØÞ <²ÞÛÖáÚØÙ>

13,0á

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 10,00 -D 1.14 1,4á

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 20,00 -à 0,84 16.Ò×

²ÞÔÐ
190,00 ÜÛ 0,0,1

flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ

ãçÕâÐ
1,7á

¸âÞÓá 59,32

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2, ÞßÛÐâÐ

´ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àçÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞÓÞ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,0á 39285,62 164,42 0,67 160,0g 5,2Õ

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59
¸âÞÓÞ 6,85

2.2.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ,
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë. ÞÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì; àãÑ

ÚÞáÓã.223

ÍÛÕÚâàÞÞÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÓ1Þáâì ßÞ
ßÐáßÞàâv 2,7 Ú²â)

0,02 ç 11,75 ,ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ

ãçÕâÐ
0,24

¸âÞÓÞ 0,24

2,3,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
íâÞØÜÞáâì, àãÑ,

ÚÞáÓã.346

ÁØàÞß ÔÛï ÚÞäÕ

10,00 lçlÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
ß/°V -¿¸rl° lzanßvaulrlYrr 7,2á

¸âÞÓá l ,zL

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=ÄÞÂßàÞç+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+7,2/59,32= 0,24

4, ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q= Pnp. +Àæà. =Àß à. +Àßà*ºÚà. = 59, 32+(59, 32* 0,Z41= 7 3,61

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á't ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 36%
¿=Á*36% 26,50

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 100,11

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëÙÞÚÞÝÞÜØáâ ¸ ½ØÚãÛØÝÐ »,²



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÜÞÛÞçÝëÙ tUÞÚÞÛÐÔ, 250 ÜÛ)"

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü,

0àÕÔÝïï
×âÞØÜÞáâì ×Ð
íÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ

ÔOÚãÜÕÝâë; àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,00 èâ 10,09
´ÐÝÝëÕ áÞr»ÐÞÝÞ

ßàØÛÞÖÕÝØî 1 ÀÐÞçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

,l0,09

íëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,0á èâ 4,55 4,55

ÀÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞÄÕ 1Z+-,loGM, ÔÕàÕÒïÝllìlµ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔl,tÞàÐ×ÞÒëÕ

1,00 èâ 1,76
1,76

'ÞàïçØÙ èÞÚÞÛÐÔ 35,00 Óà 0,69 ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
N»°Ã (¿ÚØÞ <<²ÞÛÖáÚØÙr>

24,14

¿ÞàæØÞÝÝìÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 0 Óà 1 l,4U

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 15,00 ,à 0,84 12,62

²ÞÔÐ

170,00 ÜÛ 0,01 fl,ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
1.52

¸âÞÓá 66,08

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2,1. ¾ßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ ÞÝÐÛÐ

!ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àãÑ,

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕDáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 39285,62 164,42 U,o / 160,09 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

¸âÞÓÞ 6,85
2,2, ×Ðâ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞÞæØØ µÔ. Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞlÛÝÞáâì ß0

ßÐáßÞàâã 2,7 Ú²â)

0,02 11,75 ,ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ

ãçÕâÐ
0,24

¸âÞÓá 0,24

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

áØàÞß ÔÛï ÚÞäÕ

10,00 ÜÛ 0,72

!ÐÝÝëÕ áÞrÛÐáÝÞ
ßàØÛÞÖÕÝØî,1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
[r^V /ßtrl,Û zzÐÐßçÐçlrÙrr 7.2á

¸âÞÓá 7,2á

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=q9lßÞÞç+½ßàÞç/Ä¾Â ÞáÝ+½ÞáÝ

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.

6,85+0,24+7,2/66,0Ò= Ûr,

Á-=àßà.+Àæà.=Àßà.+Àßà*ºÚà.= 66,08+(66,08*0,22)= 69,37

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ24¾/Þ
11=Á*24Þ/Þ 19,29

6, ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 99,66

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 100 àãÑÛÕÙ

ÓÛÐÒÝëÙ ÞÚÞÝÞÜØÞâ ½ØÚãÛØÝÐ ».²



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒi ÚÐßãçØÝÞ, 350 ÜÛ)"

1.¿àïÜëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.
ØÐÛìÝëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï '1

ßÞOæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð

ÕÔ., àçÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔOÚçÜÕÝâë. DÐáçÕâ

¸âÞÓÞ

×âÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,

ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔ¡ëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ
1,00 tÛâ 10,0�

´ÐÝÝëÞ áÞÓÛÐÞÝÞ
ßàØÛÞÖÕÝØî,l ÀÐÞçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛOÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

10,09

íëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1 èâ 4,55 4,5a
ÀÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚOäÕ 14*15áÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,0á èâ 1,76
1,76

ÚÞäÕ Ò ×ÕàÝÐå 14,0á Óà 1,30 ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
¼°Ã Ú¿ºØÞ (²ÞÛÖáÚØÙ)

1Ò,20

íàæØÞÝÝë¹ ÑÕÛë¹ áÐåÐà Ò áâØÚÐå, 5 Óà,/èâ 15,0á Óà 14 17,10

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 55,0á Óà 0,84 46,27

²ÞÔÐ
2Ò0,0á ÜÛ 0,0,1 ,ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ ãçÕâÐ

2,51
¸âÞÓá 100,48

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2.1. ÞßÛÐâÐ ß Ø ÝÐçØáÛÕÝØï ÝÐ

[ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï ×ÐàÞÑÞâÝÐï
ßÛÐâÐ Ò ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ_

ÒÞ àÐÑÞçØå
çÐáOÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 392Ò5,62 164,42 0,67 160,09 5,2á

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ a ïÞ

¸âÞÓÞ 6,85
2.2. ìÝëÕ ×Ð

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ ÚÞÛØçÕáâÒÞ

ÔÛï ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ÐÐ
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. 0ÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞàâç 2,7 Ú²â)

0,02 ç 11,7a ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

0,24
¸âÞÓá 0,24

2,3, ÐÛë

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü

ÁàÕÔÝïï
áâOØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ,

ÚÞáÓã.346

áØàÞß ÔÛï ÚÞäÕ

15,00 ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØíÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
Ir^V -ßØ,iß,,ÐÛßvÛØ'rÙ\\

,10,Òá

¸âÞÓÞ 10,80

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà,=Ä9ÂßÞÞr+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+,10,²/100,48= 0,18

4, ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ,
á=àßà.+àÚà.=àßà.+àßà*ÚÚà,= 1 00,48+(1 00,48"0,1 ²)= ,| ,| 6,36

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ27¾/Þ
¿=Á*27Þ/Þ 31,96

6, ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 150,32

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 150 àãÑÛÕÙ

ÓÛÐÒÝëØ íÚÞÝÞÜØáâ ½ØÚãÛØÝÐ ».².



ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâOØÜÞáâì ×Ð
ÕÔ.. ÞçÑ.

¿ÞÔâÒÕàÔÐîéØÕ ,

ÔÞÚçÜÕÝâë. DÐáçÕâ
¸âÞÓÞ
áâÞØÜÞáâì, ÞçÑ.

ÚÞáÓã.×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,

ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚOÒ

1,00 èâ 4n nc
´ÐÝÝëÕ áÞrÛÐÞÝÞ

ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛOÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï 0àÓÐÝØÐÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
¼°Ã Ú¿ºØÞ (²ÞÛÖáÚØÙ)

10,09

)ëèÚÐ ÞÔÝÞàÐ×ÞÒÐï,9 áÜ 1,00 tJJT 4,55 4,55
ÀÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞäÕ 14-1íáÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ 0ÔÝÞàÐ×ÞÒëÕ

1,00 èâ 1,7Ð
1,76

ºÞäÕ Ò ×ÕàÝÐå 1 Óà 1,3á 14,30

lÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ
,15,00

Óà 1 17.10

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 60,00 Óà 0,84 50,48

²ÞÔÐ
250,00 ÜÛ 0,01 ´ÐÝÝëÕ ÑãårÐÛâÕàáÚÞÓÞ ãçÕâ�

2,24
¸âÞÓá 100,51

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2.1 . ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ

ÉÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï ×ÐàÞÑÞâÝÐï
ßÛÐâÐ Ò ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ.
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
Ò0 çÐáÞÒ Ò
ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞÓÞ ÄÞâ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐOÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 392Ò5,62 164,42 0,67 160,09 5,2á

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59
¸âÞÓÞ 6,Ò5

2.2. ºÞÜ

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=691ßÞÞç+½ßàÞç/Ä¾Â ÞáÝ+½ÞáÝ 6,²5+0,24+10,80/100,5]= 0,18

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Á=àßà.+àÚà.=àßà.+àßà*(æà.= 100,5,1+(100,51-0,1Ò)= "|,|6,49

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 27¾h

¿=Á*27Þk ·1,97
6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 150,37

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì '1 ßÞàæØØ = 150 àãÑÛÕÙ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ ÚÞÛØçÕáâÒÞ

ÔÛï ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ,
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. DÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì. ÞçÑ

ÚÞáÓã.223

0,02 11,7a [ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

0,24
¸âÞÓá 0,24

áâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞDæØØ µÔ. Ø×Ü,

aàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

ÁØàÞß ÔÛï ÚÞäÕ

15,0á lÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
[»´V zz¿ºØ° zrRßßçßØr;Ùrr 10,Òá

¸âÞÓÞ 10,8á

ÓÛÐÒÝëÙ íÚÞÝÞl\ilØáâ 

É

½ØÚãÛØÝÐ »,².



ÀÐáçÕÂ áâÞØÜÞáâ¸ ßÛÐâÝÞ¹ ãáÛãÓØ "¾àÓÐ½Ø×ÐæØÏ ãáÛãÓ ßØâÐÝØÏ (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÜÞÚÐçØÝÞ, 350 ÜÛ)"

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
,1 

ßÞàæØØ µÔ, Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ.. ÞçÑ.

¿ÞÔâÒÕàÔÐîæØÕ
ÔOÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àvÑ

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâ×Ú×Ý; ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,00 æâ ,10,09

´ÐÝÝëÕ áÞrÛÐÞÝ0
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

10,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,00 èâ 4,55
àÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞÄÕ 14-1íáÜ, ÔÕàÕÒïFlliëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,00 æâ 1,76
1,7á

ºÞäÕ Ò ×ÕàÝÐå 12,00 Óà 1,30
,15

-lÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà,/èâ 15,00 à ,14
;Ûãt ßØâÐÝØï ÝÐ lµààØluàl
¼°Ã (ßÚØÞ (²ÞÛÖÞÚØÙ)

1U

3ÐÜÕÝ ØâÕÛ ì áãåØå áÛ Ø ÒÞÚ (ÓàÐæãÔæàsà9!_æ_µÉ 25,0á Óà 0,84 21,03

ÓÞÞïçØÙ èÞÚÞÛÐÔ 25,0á Óà 0,69 17.24

²ÞÔÐ

270,0á ÜÛ 0,01 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

2,42

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

, ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ

´ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ
Ò ÜÕáïæ. àçÑ.

ÁàÕÔÝÕÕ ÚÞÛ.
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ ÄÞÂ ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1.0á 392Ò5,62 164,42 0,67 160,09 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

ìÝëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü

ÁàÕÔÝïï
áâOØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2¾2· Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì. ÞçÑ

ÚÞáÓã.223

ÍÛÕÚâàÞÞÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞàâç 2.7 Ú²â)

0,02 11,75 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâµ

0,24
¸âÞÓá 0,24

.3.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓOâÞÒÛÕÝØï
1 ßÞàæØØ , µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ.. ÞçÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔOÚçÜÕÝâë. 0ÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

15,00 lÜÛ Þ,72

´ÐÝÝëÕ áÞrÛÐáÝQ

ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
ßr^v -ßr|,Û zRßßçßçllÙs 10,Òá

¸âÞÓÞ 10,Òá

3, ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà,=qgÂßÞÞL|+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+10,8/89,79= 0,20

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q=Àßà.+ÀÚà.=Àßà.+Àßà*ºÚà.= Bg,79+(89,79*0,2)= "|Q7,66

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 39%

¿=Á*39% 41,99
6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 14S,67

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 't50 àãÑÛÕÙ

ÓÛÐÒÝëÙ íÚÞÝÞÜØáâ ½ØÚãÛØÝÐ ».².



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: äÛÕÙâ ãÐÙâ, 350 ÜÛ)"

1.¿àïÜëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãGÛãÓØ.

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîæ.lØÕ

ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
qÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,00 èâ 10,09
flÐÝÝëÕ áÞÓÛÐáÝÞ

ßàØÛÞÖÕÝØî,1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

,l0,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,00 èâ 4,55 4,5a
àÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚOäÕ ]4-1íáÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,00 èâ 1,76
1,7á

ºÞäÕ Ò ×ÕàÝÐå 14.00 Óà 1.30 ãáÛãÓ ßØâÐÒØï ÝÐ âÕààØâÞàØØ
¼°Ã (ßÚØÞ (²ÞÛÖáÚØÙ))

,18,2á

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà,/èâ 15,00 Óà 1 .14 17,1

·ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 25,00 Óà 0,84 21,0×

²ÞÔÐ
280,0á ÜÛ 0,01 flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ. ãçÕâÐ

2,51

¸âÞÓá 75,2°

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2.'l . ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ

´ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
æâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
íÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐGÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸ÂÞÓÞ Ä¾Â ×Ð
ÔÕÝì

L;àÕÔÝïï ×ÐàÐOÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1.0á 392Ò5,62 164,42 U,o / 160,09 5,26
ÝÐçØáÛÕÝØï ÝÐ ÞßÛÐâç âàçÔÐ 1,59
¸âÞÓÞ 6,85

2,2,

ÁâÐâìï Ø ,"rr"roaurru uurou,

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞOæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.22×

0,02 ç 11,75 ,ÉÐÝÝëÕ ÑãåÓÐßâÕàáÚÞÓÞ

ãçÕâÐ
0,24

¸âÞÓÞ Þ.24

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîèØÕ
ÔÞÚçÜÕÝâë. DÐáçÕâ

¸âÞÓÞ
íâÞØÜÞáâì, àãÑ,

ÚÞáÓã.×46

áØàÞß ÔÛï ÚÞäÕ

15,00 l\i]Û 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
[ß^v,ßrØÛ ,ÐÛß!,ÛãØÙý 10,80

¸âÞÓÞ 10,80

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=691ßÞÞr+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+10,Bl75,24= 0,24

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q= à Ñ à. + À æà. = À ß à, + À ß à*ºÚà .= 7 5,24 + (7 5,24* 0,241= 93, 1 2

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 61%
¿=Á*61% 56,80

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ ,149,93

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 150 àãÑÛÕÙ

ÓÛÐÒÝëØ íÚÞÝÞÜØáâ ½ØÚãÛØÝÐ ».².



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÜÐÚØÐâÞ, 350 ÜÛ)"

1.¿àïÜëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.
×Ðâ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓOâÞÒÛÕÝØï

1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ.. àçÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
íâÞØÜÞáâì, àçÑ

ÚÞáÓã.×46

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ! ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ½ÐßØâÚÞÒ

,1,0á èâ 10,09
´ÐÝÝëÕ áÞÓÛÐáÝÞ

ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×ÐæØØ

ãáÛãr ßØâÐÝØï ÝÐ âÕààØâÞàØØ
¼°Ã (¿ºØÞ (²ÞÛÖáÚØÙ)

,10,09

ºàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,0á èâ 4,55 4,55
rÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞQÕ lZ+- líáÜ, ÔÕàÕÒïÝliëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,00 èâ 1,7á
1,7á

ºÞäÕ Ò ×ÕàÝÐå ,14,00 Óà 1,3á 1Ò.2á

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 15,00 Óà 1.1

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 33,00 Óà 0,84 27,7á

²ÞÔÐ
300,00 ÜÛ 0,01 ,ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
2,68

¸âÞÓá 82,1

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë Üï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2.,l . Þß ÞÝÐÛÐ Ø ÝÐçØáÛÕÝØï ÝÐ ÞÝÐÛÐ

ÉÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ. ÞçÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
tsÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
áÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ ,1,0á 392Ò5,62 164,42 0,67 160.09 5,26
½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59
¸âÞÓÞ 6,Ò5

2.2. ºÞ ìÝëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.223

ÍÛÕÚâàÞÞÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ
ßÐáßÞàâV 2,7 Ú²â)

0,02 ç 11,75 ýÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ

ãçÕâÐ
0,24

¸âÞÓá U,z
2,3. ë

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓOâÞÒÛÕÝØï
1 ßÞÞæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
GâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîç.lØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.346

ØàÞß ÔÛï ÚÞäÕ

15,00 ÜÛ Û,7á

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕ8Øï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
ßI´V -ßkr;¿ zÀÐßçÐØØÙt 10,80

¸âÞÓÞ 10,80

3, ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=qglßÞÞr+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+10,8182,14= 0,22

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q=àßà.+Àæà.=Àßà.+Àßà*ºÚà .= 82,1 4+(82,14-0,221= 1 99,93

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 50%
¿=Á*50% 50,02

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 'l50,05

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 150 àãÑÛÕÙ

ÓÛÐÒÝëÙ íÚÞÝÞÜØáâ /W ¹'{r ½ØÚãÛØÝÐ ».²



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÓÞàïçØ¹ æÞÚÞÛÐÔ, 350 ÜÛ)"

1.ß ×Ð ÞÚÐ×ÐÝØï

ÁâÐâìï Ø ÝÐÙÜÕÝÞÒÐÝØÕ ×ÐâàÐâ '

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
,1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîèØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ,

ÚÞáÓã,346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,0á èâ 10,09 ´ÐÝÝëÞ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞÞâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

10,09

ÚàëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1.0á èâ 4,55 4,55

ÀÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞäÕ 14-1ýáÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

,1,00 èâ 1,76
1,76

ÞàïçØØ èÞÚÞÛÐÔ 55,00 Óà 0,69 ¼°Ã (ßÚØÞ (²ÞÛÖáÚØÙ)

´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ

ãçÕâÐ

37,93

lÞàæØÞÝÝë¹ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 15,00 Ó0 1,14

²ÞÔÐ

250,00 ÜÛ 0,01
2,24

¸âÞÓÞ 73,67

2.1. ÞßÛÐâÐ ÞÝÐÛÐ Ø ÝÐçØáÛÕÝØï ÝÐ

ýÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
íÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ. àçÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1.0á 392Ò5,62 164,42 0,67 160,09 5,2á

ÝÐçØáÛÕÝØï ÝÐ 0ßÛÐâv âàvÔÐ 1,59

¸âÞÓÞ 6,85

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë. ÞÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì. ÞçÑ,

ÚÞáÓã.223

0,02 ç 11,75 flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
0,24

¸âÞÓÞ L),2,

2,3, Ûë

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÍàÕÔÝïï
íâÞØÜÞáâì ×Ð
íÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. DÐáçÕâ

¸âÞÓÞ
ÞâÞØÜÞáâì. àçÑ.

ÚÞáÓã.346

áØàÞß ÔÛï ÚÞäÕ

15,00 ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ÛàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ÛàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
, ßr^v,ßØlIÛ -ÐÐÒçÐrrlÙ* 10,µ0

¸âÞÓá 10,80

3, ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=q9ÂßÞÞ.,+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,²5+0,24+10,²17·,67= 0,24

Q=àßà.+àæà.=àßà.+Àßà*Æ*Þ.= 73,67+(7·,67*0,24;= 91,56

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 64¾/Þ

¿=Á*641% 58,60
6. ¿ÞÛÝÐï áâÞØÜÞáâì,1 ßÞàæØØ 150,15

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØÙ = ,150 
àãÑÛÕÙ

½ØÚãÛØÝÐ »,²



àÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "ÞàÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÜÞÛÞçÝëÙ tÛÞÚÞÛÐÔ, 350 ÜÛ)"

1 ÔÛï ÞÚÐ×ÐÝØï

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîèØÕ
ÔÞÚçÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àçÑ.

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,0á èâ 10,09
´ÐÝÝëÕ áÞrÛÐáÝÞ

ßàØÛÞÖÕÝØî,1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

10,09

ÚÞëèÚÐ ÞÔÝÞÞÐ×ÞÒÐï. 9 áÜ 1.0á èâ 4,55 4,55
ÝÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞ(àÕ l1- loGMt ÛÕàÕµ}tt
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ 0ÔÝÞàÐ×ÞÒëÕ

1,00 èâ 1,7á
1,7Õ

ÞàïçØØ èÞÚÞÛÐÔ 40,00 Óà 0,69 ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàl
¼°Ã (ßÚØÞ <<²ÞÛÖáÚØÙ>

27,

¿ÞÞæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 15,00 ÓD 1,14

3ÐÜÕÝØâÕÛì áãåØå áÛØÒÞÚ (ÓàÐÝãÛéàqµÐIt!ÆÆ 20,00 Óà 0,84 16.83

230,00 ÜÛ 0,01
2,06

¸âÞÓá 79,97

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2.1, ÞßÛÐâÐ ß Ø ÝÐçØáÛÕÝØï ÝÐ ÞßÛÐ ß

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ Ò

ÜÕáïæ. àçÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ

,1,00 392Ò5,62 164,42 0,67 160,09 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ
,1,59

¸âÞÓÞ 6,85
2,2. ×ÐâàÐâë

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ,
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã,223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞlÛÝÞáâì ßÞ

ßÐáßÞàâã 2,7 Ú²â)

0,02 ç 11,75 flÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ

ãçÕâÐ
0,24

¸âÞÓÞ Þ,24

ØÐÛë

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ

ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ,, àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚvÜÕÝâë. àÐáçÕâ

¸âÞÓÞ
íâÞØÜÞáâì, àãÑ

ÚÞáÓã.346

ÁØàÞß ÔÛï ÚÞäÕ

,15,00
lÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØrÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
in °\/ -ß¸t.Û -tra-rlrarlrÙ* 10,80

¸âÞÓá 10,80

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ

ºÚà.=qg'àßÞÞr+½ßàÞç/ÄÞÂ oiÝ+HocH 6,²5+0,24+10,8/79,97= 0,22

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ,
Q=pnp. +ÀÑà. =Àßà. + Àßà*ºÚà. = 79, 97+(79, 97 

* 0,22)= Q7,gÑ

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 53%
¿=Á*53% 51 ,²7

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 149,73

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 150 àãÑÛÕÙ

ÓÛÐÒÝëØ íÚOÝÞÜØáâ ½ØÚãÛØÝÐ ».²,



ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÚÞÚÞáÞÒëÙ àÐä, 350 ÜÛ)"

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. ÞÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, DçÑ.

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,00 èâ 10,09

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕ}tØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

¼°Ã <¿ºØÞ (²ÞÛÖáÚØÙ)

10,09

ÚÞëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,00 èâ 4,5a 4,55

³Ð×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞäÕ 14-15áÜ, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕæÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,00 èâ 1,76
1,7á

ºÞäÕ Ò ×ÕàÝÐå 11,00 -à 1,30 14,3á

¿ÞàæÙÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 15,00 lp 1,14 17,10

ÜÕáì áçåÐï ÔÛï À°Ä áÞ ÒÚãáÞÜ º¾º¾Á 55,00 à 0,65 35,93

3ÐÜÕÝØâÕÛì áçåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 15,0á Óà 0,84 12,62

230,0á ÜÛ 0,01 ÆÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

2,06

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2.1. ÞßÛÐâÐ ÛÐ Ø ÝÐçØáÛÕÝØï ÝÐ ÝÐÛÐ

!ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ
Ò ÜÕáïæ, àãÑ.

ÁàÕÔÝÕÕ ÚÞÛ.

ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,0á 392Ò5,62 164,42 0,67 160,09 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

2.2, ìÝëÕ

áâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞDæØØ µÔ, Ø×Ü.

ÁàÕÔÝïï
áâOØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞælÝÞáâì ßÞ

ßÐáßÞàâã 2,7 Ú²â)

0,02 11,75 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞrÞ ãçÕâ�

0,24

¸âÞÓá 0,24

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ,

¿ÞÔâÒÕàÔÐîèØÕ
ÔÞÚVÜÕÝâë. DÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ.

ÚÞáÓã.346

áØàÞß ÔÛï ÚÞäÕ

15,00 ÜÛ 0,72

´ÐÝÝ±tÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
[» Û\/ -ßØ,lÛ -ÐÛ±r,,Ûl,,rÙ- 10.8á

¸âÞÓá 10,8á

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=qglßÞÞç+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,20+10,8/98,41= 0,18

4, ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ.
Q=Àßà,+Àæà.=Àßà,+Àßà*ºÚà.= 98,4'1 +(9²,41 *0, 

1 8)='t't ý,39

5. ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ29¾/Þ
, ¿=Á*29% 33,73

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 150,02

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = ,150 
àãÑÛÕÙ

ÓÛÐÒÝëØ 0ÚOÝOÜØáâ ½ØÚãÛØÝÐ »,².



àÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "¾àÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÚÞÚÞáÞÒëÙ ÚÐßãçØÝÞ, 350 ÜÛ)"

l ÞÚÐ×ÐÝØï
ëÕ ×ÐâàÐâl

ÓØ.

1

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð

ÕÔ,, àçÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. ÞÐáçÕâ

¸âÞÓÞ

áâÞØÜÞáâì. ÞçÑ.

ÚÞáÓã.346

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,

ÔÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïtæå 1-1ÐßØræ9Ò

1,00 æâ 10,09

,ÉÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØíÐæØØ

10,09

ºDëèÚÐ ÞÔÝÞàÐ×ÞÒÐï, 9 áÜ 1,00 èâ 4,55 4,55
àÐ×ÜÕèØÒÐâÕÛØ ÔÛï ÚÞäÕ,l4-1cc¼, ÔÕàÕÒïÝÝëÕ
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕèÐÛÚØ ÞÔÝÞàÐ×ÞÒëÕ

1,0á èâ 1,7Õ
1,76

ºÞäÕ Ò ×ÕàÝÐå 14,0á Óà 1 18,20

¿ÞàæØÞÝÝëÙ ÑÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 15.0á Óà 1,14 ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàl
¼°Ã (ßÚØÞ (²ÞÛÖáÚØÙ)

17,1Q

3ÐÜÕÝØâÕÛì áçåØå áÛØÒÞÚ (ÓàÐÝãÛØàÞÒÐÝÝëÙ) 40,0á Óà 0,84 33,65

ÁÜÕáì áãåÐï ÔÛï À°Ä áÞ ÒÚãáÞÜ º¾º¾Á 15,0á Óà 0,65 9,Òá

²ÞÔÐ

250,00 lçlÛ 0,01 ´ÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

2,24

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãrØ,

.,l . ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ ÞßÛÐry âàãÔÐ ßàÞçÕÓÞ ßÕàáÞÝÐÛÐ

!ÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ
Ò ÜÕáïæ, àVÑ.

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
ÒÞ çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,0á ×92Ò5,62 164,42 0,67 160,0g 5,26

½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

2.2, ìÝëÕ

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü,

ÁàÕÔÝïï
áâÞØÜOáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
2023 Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. ÞÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.223

ÍÛÕÚâàÞíÝÕàÓØï (ÝÞÜØÝÐÛhÝÐï ÜÞéÝÞáâì ßÞ

ßÐáßÞàâã 2,7 Ú²â)

0,02 ç 11,7µ ÉÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâÐ

0,24
¸âÞÓÞ Þ,24

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü,

ÁàÕÔÝïï
áâÞØÜOáâì ×Ð
ÕÔ., àãÑ,

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚãÜÕÝâë, àÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àçÑ.

ÚÞáÓã.346

áØàÞß ÔÛï ÚÞäÕ

15,00 ÜÛ 0,72

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï ÞàrÐÝØ×dæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
irÔ\/ -ßØ,,Û -ÐÛ-{rÛl,LÙ_ 10,80

¸âÞÓÞ 10,80

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=qOlßÞÞç+½ßàÞç/ÄÞÂ ÞáÝ+½ÞáÝ 6,85+0,24+1Q,8/97,39= 0,18

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ,
Q=Àßà.+Àæà.=Àßà,+Àßà*ºÚà.= 97,39+(97,39*0,18)= 1'15,27

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á 1 ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 30%
¿=Á*30% 34,58

6. ¿ÞÛÝÐï áâÞØÜÞáâì't ßÞàæØØ 149,86

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 150 àãÑÛÕÙ

ÓÛÐÒÝëØ íÚÞÝOÜØáâ ½ØÚãÛØÝÐ ».²
Ø{



1

-+ ÀÐáçÕâ áâÞØÜÞáâØ ßÛÐâÝÞÙ ãáÛãÓØ "ÞàÓÐÝØ×ÐæØï ãáÛãÓ ßØâÐÝØï (ßàÞÔÐÖÐ ÝÐßØâÚÞÒ: ÚÞÚÞáÞÒëÙ ÛÐâÓÕ, 350 ÜÛ)"

ÞÚÐ×ÐÝØï

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
1 ßÞàæØØ µÔ, Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîçlØÕ
ÔÞÚvÜÕÝâë. àÐáçÕâ

ÚÞáÓã,340

¾ÔÝÞàÐ×ÞÒëÙ áâÐÚÐÝ, ÞÑêÕÜ 450 ÜÛ, ÑãÜÐÖÝëÙ,
æÛï ÚÞäÕ, çÐï, åÞÛÞÔÝëå Ø ÓÞàïçØå ÝÐßØâÚÞÒ

1,0á èâ 10,09

flÐÝÝëÕ ÞÞrÛÐÞÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÒâ

áàÕÔÝÕÙ áâÞØÜÞáâØ
ÜÐâÕàØÐÛÞÒ ÔÛï

íØÓÞâÞÒÛÕÝØï (ÞäÕÙÝëå

10,09
ÚàëèÚÐ ÞÔÝOàÐ×ÞÒÐï, 9 áÜ 1 èâ 4,55 4,55
rÐJÜátÛØtsÐ leJ lØ ÛJ lï KU(Pg | +- l oUM, ÛÕàáÒï
Ò ØÝÔØÒØÔãÐÛìÝÞÙ ÑãÜÐÖÝÞÙ ãßÐÚÞÒÚÕ,
ÔÕàÕÒïÝÝëÕ ÜÕuJÐÛÚØ ÞÔÝÞàÐ×OÒëÕ

,1 
,0á èâ 1 ,7F

1,7Ò
ÚÞäÕ Ò ×ÕàÝÐå 10.0á Óà l.JL ÝÐßØâÚÞÒ ÔÛï ÞàÓÐÝØ×ÐæØØ 13,00
l0àæØOÝÝëÙ 0ÕÛëÙ áÐåÐà Ò áâØÚÐå, 5 Óà./èâ 15,0á Óà 1,1 ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ

¼°Ã Ú¿ºØÞ <²ÞÛÖÞÚØÙ>
/, lt,

×ÐÜÕÝØâÕÛì ávåØå áÛØÒÞÚ (ÓàÐÝçÛØàÞÒÐÝÝëÙ) 45,0á Óà 0,84 37,86

ÁÜÕáì áãåÐï ÔÛï À°Ä áÞ ÒÚãáÞÜ º¾º¾Á 15,0á Óà 0,65 Þïß

250,0á ÜÛ 0,01 ÆÐÝÝëÕ ÑãårÐÛâÕàáÚÞÓÞ ãçÕâÐ

2,24

2.ºÞáÒÕÝÝëÕ ×ÐâàÐâë ÔÛï ÞÚÐ×ÐÝØï ãáÛãÓØ.

2,1, ÞßÛÐâÐ Ø ÝÐçØáÛÕÝØï ÝÐ

ÉÞÛÖÝÞáâì

ÚÞÛ-ÒÞ
èâÐâÝëå
ÕÔÕÝØæ

ÁàÕÔÝïï
×ÐàÞÑÞâÝÐï ßÛÐâÐ
Ò ÜÕáïæ, àãÑ,

ÁàÕÔÝÕÕ ÚÞÛ
ÒÞ àÐÑÞçØå
çÐáÞÒ ×Ð
ÜÕáïæ

ÁàÕÔÝÕÕ ÚÞÛ-
Ò0 çÐáÞÒ Ò

ÜÕáïæ ÔÛï
ÞÑáÛãÖØÒÐÝØï
ÚÞäÕÐßßÐàÐâÐ ¸âÞÓÞ Ä¾Â ×Ð ÜÕáïæ

¸âÞ³Þ ÄÞÂ ×Ð
ÔÕÝì

ÁàÕÔÝïï ×ÐàÐÑÞâÝÐï ßÛÐâÐ
ßÕàáÞÝÐÛÐ ×Ð 2023 ÓÞÔ 1,00 ×9285,62 164,42 0,67 160,09 5,26
½ÐçØáÛÕÝØï ÝÐ ÞßÛÐâã âàãÔÐ 1,59

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ÁàÕÔÝÕÕ
ÚÞÛØçÕáâÒÞ ÔÛï
ßàØÓÞâÞÒÛÕÝØï 1

ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
Ú²â/ç., àãÑ.
(ÔÐÝÝëÕ ×Ð
202· Ó.)

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. ÞÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àçÑ.

ÚÞáÓã.223

ÍÛÕÚâàÞÞÝÕàÓØï (ÝÞÜØÝÐÛìÝÐï ÜÞéÝÞáâì ßÞ
ßÐáßÞàâç 2,7 Ú²â)

0,02 ç 11,75 ÆÐÝÝëÕ ÑãåÓÐÛâÕàáÚÞÓÞ ãçÕâ�

0,24
¸âÞÓá 0,2,

ÁâÐâìï Ø ÝÐØÜÕÝÞÒÐÝØÕ ×ÐâàÐâ

ºÞÛ-ÒÞ, âàÕÑãÕÜÞÕ
ÔÛï ßàØÓÞâÞÒÛÕÝØï
'1 ßÞàæØØ µÔ. Ø×Ü.

ÁàÕÔÝïï
áâÞØÜÞáâì ×Ð
ÕÔ., àãÑ.

¿ÞÔâÒÕàÔÐîéØÕ
ÔÞÚçÜÕÝâë. DÐáçÕâ

¸âÞÓÞ
áâÞØÜÞáâì, àãÑ

ÚÞáÓã.346

15,0á ÜÛ Þ,7

´ÐÝÝëÕ áÞÓÛÐáÝÞ
ßàØÛÞÖÕÝØî 1 ÀÐáçÕâ
áàÕÔÝÕÙ áâÞØÜÞáâØ

ÜÐâÕàØÐÛÞÒ ÔÛï
ßàØÓÞâÞÒÛÕÝØï ÚÞäÕÙÝëå
ÝÐßØâÚÞÒ ÔÛï 0àÓÐÝØ×ÐæØØ

ãáÛãÓ ßØâÐÝØï ÝÐ âÕààØâÞàØØ
nn^v -ß¸ØÛ -ÐÛ±r,,Û1,1,Ù* 10,s0

¸âÞÓá 0,6U

3. ÀÐáçÕâ ÚÞíääØæØÕÝâÐ ÚÞáÒÕÝÝëå àÐáåÞÔÞÒ
ºÚà.=äQfÑàgç+½ßàÞç/Ä¾Â ÞáÝ+½ÞáÝ 6,85+0,24+10,8/96,39= 0,19

4. ÀÐáçÕâ áÕÑÕáâÞØÜÞáâØ ãáÛãÓØ,
á=àßà.+àÚà.=àßà.Ðàßà*ÚÚà.= 96,39+(96,·9*0, 1 9)= 1 1 4,26

5, ÀÐáçÕâ ßÛÐÝÞÒÞÙ ßàØÑëÛØ á ,l ßÞàæØØ á ãçÕâÞÜ àÕÝâÐÑÕÛìÝÞáâØ 31YÞ
¿=Á*3,1% 35,43

6. ¿ÞÛÝÐï áâÞØÜÞáâì 1 ßÞàæØØ 149,71

Á ãçÕâÞÜ ÞÚàãÓÛÕÝØï, áâÞØÜÞáâì 1 ßÞàæØØ = 150 àãÑÛÕÙ

½ØÚãÛØÝÐ ».².


